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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry twomarks. All questions of Paper-IT will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(6] To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(1) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Economaics
Paper II

AL ITET
gyautent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions. Each question
carries Two (2) marks. Attempt All questions.

AT ;A TRAULTERG THY UAE (50) SgTARl TR o oA Wod TN g (2)

U SRd. @E U Wred.

In case of positive cross-elasticity,

price consumption curve would
be :

(A) Upward sloping

(B) Downward sloping

(C) Horizontal straight line
(D) Vertical straight line

Monetary policy will be more
effective in Keynesian macro-
economic equilibrium if speculative

demand for money responds :

(A) Weakly to change in interest
rate

(B) Strongly to change in interest
rate

(C) Does not respond at all to

interest rate

(D) Only when interest rate is above
a threshold level

Y9 Bk Adrdehdl ATaH fhAd ST

(A) e o9 =ed SomT

(B) @rer=Al f®H SaRa SO

(C) fafasm=R e I
(D) fufasieis e Yo

HEYUa gAY e HHdena Hifgen
ao erfares gyret 3T8d S eI

IReheqT |TOET gfadre

(A) SR Sgar &7 Hiade S 19a
™

(B) TSI dgardl JuE Jiadrg
I W

(C) ISl SEATAl hivdre! Ifqdre

WA ™

(D) e o8l =S <X SISl UTdasra et
S oA @
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Real burden of tax is equal to :

(A) Disutility in parting with

purchasing power

(B) The amount of money paid as

tax

(C) The amount of tax as proportion

of income
(D) Increase in disposable income
The income elasticity of demand for
1imports is equal to :
(A) The marginal propensity to
1import
(B) The average propensity to
1import

(C) The marginal propensity to
import divided by the average

propensity to import

(D) The average propensity to
import minus the average

propensity to export
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(D) fafErg = JTeude

3T T ARV 3= e taehal

(A) HH= A Tt

(B) wU&{ T Feit

(C) HHra ard Yot wifilel wEd
SIS Ell

(D) | ST et ot TRERT &
Rl




Which sector contributes the highest
share in gross domestic savings at

present ?

(A) Public sector

(B) Government sector

(C) Private corporate sector
(D) Domestic sector

According to Marx, main source of
capital accumulation under

capitalism 1s :

(A) Constant capital

(B) Variable capital

(C) Savings by the workers

(D) Savings by the farmers
Arithmetic Mean of deviations is -
A 1

(B) -1

© o

(D) oo
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Differential attitude to risk of

individuals plays an important role

(A) Transaction demand for money
(B) Quantity theory of money

(C) Precautionary demand for

money
(D) Portfolio choice theory of money

Which of the following is not an
objective of the National Food

Security Mission ?

(A) Sustainable increase in
production of rice, wheat and

pulses

(B) Restoring soil fertility and
productivity at individual farm

level

(C) Promoting use of bio-pesticides

and organic fertilizers

(D) Creation of employment

opportunities
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10.

11.

12.

Bhandari Committee was related

170 N .

(A) The entry of private units in

telecommunication sector

(B) The reorganization of Railway

zones
(C) The reconstruction of RRBs
(D) The reforms in oil sector

Which one of the following is the
correct cause of demographic
dividend in India ?

(A) Falling dependency ratio

(B) Increasing urbanization process
(C) Increasing dependency ratio
(D) Falling birth and death rates
Who the

among following

economists, developed the ‘Theory of

Circular Causation’ ?
(A) G. Myrdal
(B) R. Nurkse
(C) J.R. Hicks

(D) J. Robinson

11.

12.
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(A) STHEIAR &EHE @S RO
PR

(B) (@ faurma gA e

(C) &rfia T ARt qaa

(D) 7 &N FERO

TRATT AT EEIT AR Seiiereh]

HIUG ARG HRO AR ?

(A) Tl STt X

(B) dmedt TPRIeRTor Yfshan

(C) ded sTedfae T
(D) wedl S T Jog <L

TTeedsh! Hiorear siefaqme =g
FRUER faga Aea e ?

(A) <. fogia
(B) *R. &4
(C) .3, feog

D) <. A==
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13.

14.

15.

Who was the Chairman of the

Commission on Centre-State

Relations ?

(A) Justice R.S. Sarkaria

(B) K.N. Raj

(C) LK. Jha

(D) Wanchoo

The marginal propensity to import
is defined as :

AM

A) X

AX
(B) AY

AM
(C) Y

AM

D) Y

Return to human capital is part of

money demand function of :
(A) Baumol

(B) Tobin

(C) Friedman

(D) Keynes

13.

14.

15.
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16.

17.

18.

The area which lies under the
demand curve for a given good

measures -

(A) Marginal utility

(B) Total utility

(C) Disutility

(D) Marginal cost of production

Keynes’s speculative demand for
money suggests that if everybody
expects price of bond to rise
tomorrow, then speculative demand

for money curve will be :
(A) Perfectly inelastic
(B) Unit elastic

(C) Perfectly elastic

(D) Vertical

If the consumption function is given

3
by C =20 + ZY’ then the value of

multiplier will be.....................

(A)

A= |~

(B)
(C) 4
D) 5

16.

17.

18.
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(A) dFHr= YA
(B) TR IHAINRTI

(C) erguAfTan
(D) ScEATen HHa @

oA T W=l o herel! U
HAATOR ST Gfed HId I ST Tk Sl
Ter! frad e dea ol oTian w
AT TR SeTr= S &7 sheled!
AU ok
(A) gl srerataeh
(B) Twheh oE<eh
(C) qui wafaek

(D) farfasrers

3
GRC=20+ZY,?:|TW¢IWWW

HAd ST ST T9d dX TR

4
A) 3

B) —

(C) 4
D) 5
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19.

20.

21.

Which one of the market forms is
associated with kinked demand

curve faced by a firm ?

(A) Monopoly

(B) Perfect competition

(C) Oligopoly

(D) Monopolistic competition

In Keynesian consumption function,

the property shows :

(A) MPC = APC

(B} MPC < APC

(C) MPC > APC

(D) APC = zero

At present, the number of recognized
central trade union is 12. Which of
the following trade unions continues
to be largest among all 12 trade

unions in India ?

(A) Hind Mazdoor Sabha (HMS)

(B) Centre for Indian Trade Unions
(CITU)

(C) All India Trade Union Congress
(AITUC)

(D) Bhartiya Mazdoor
(BMS)

Sangh

19.

20.

21.
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AT ofsh STV Al ?

(A) weRERI
(B) qui i
(C) CTSHIHR

(D) AeRRQRIgE Taei

H-IY0d IUUFT HAId ShIoTal T[OTEH

Teffaat 2

(A) HHFT ITHN Yl = T STHAT
EERl

(B) €T 3TN Yol < TIERT SUHM
EERl

(C) Hrra IUHMT Yo=it > TIET ST
EERl

(D) T 3UAM UG = A

A .

T 12 T HIAUTE TR o]

3Ted. AT &1 12 ekt vt Haid
e e ?

(A) f&g 7eig® @ (HMS)

(B) ¥R R sfead ¢ g (CITU)

(C) afa gfear 2z gfHaa =iuw
(AITUC)

(D) YRAE FsX &9 (BMS)
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22.

23.

24.

The sum of 50 observations 1s 500,
the sum of squares of observations
i1s 6000 and their median is 12.
Then the coefficient of skewness will

be :

(4) —2.34
(B) +3.34
(C) -1.34
(D) +2.34

The development process under
capitalism has been described as

‘Creative destruction’ by -
(A) Karl Marx

(B) ANN. Hansen

(C) R. Luxemburg

(D) J. Schumpeter

If buoyancy coefficient of a tax is
greater than unity, it indicates

in the tax structure.

(A) Built in flexibility
(B) Built in stability
(C) Built in elasticity

(D) Built in accountability

22.

23.

24.
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50 faerom= s 500 21e, fdteromen
LS I 6000 3ATE ST TS HETHT

ERED

12 TR, T STHATHATHT TOTh

3.

(4) —2.34
(B) +3.34
(C) -1.34

D) +2.34

qTeaavmer iavia fasrrar=t gfe=n
‘frafuiem fassg’ woF HI0H T3
St ?

(A) el e
(B) T.UA. &
(C) 3R. wFRrment
(D) S YEFX

SR U@ HOE SCAUARied T

ThUL S 3T, T

gfea 2.
(A) FRfad =
(B) iaifaa

(C) STaifad AR

(D) Taifad Screrac
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25.

26.

217.

The tariff that maximises a country’s

welfare is :

(A) Prohibitive tariff
(B) Effective tariff
(C) Optimum tariff
(D) Protective tariff

In simple money multiplier formula,
if deposits rise by 100 and the target
Increase in money supply is 500,
cash reserve ratio should be ........
(A 30%
(B) 50%
(© 25%
(D) 20%

Long-run normal price is that which

is likely to prevail :
(A) All the times

(B) In market period
(C) In short-run period

(D) In long-run period

25.

26.

27.
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ST HETH Hodu HIR IYTh

oA ?

(A) T TRIeh
(B) gvrelt g¥eeh
(C) wa< U¥eHh
(D) WeH TN

e Y= U YATER 3 100
q e oo Yee yRaeHTdte
TR 9% 500 TAS HAed™, e TEa

A) 30%
(B) 50%
(C) 25%

D) 20%

SrdepTel= FaEaRo fohaa o o7l
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28. Match the following and choose the

correct answer from the codes given

below :

(2

Vo)
)

(d

(1)
@)
®3)
(4)

List 1

Inflation-unemployment trade

off
Portfolio balance approach

Multiplier-accelerator inter-

action

Quantity theory of money
List II

James Tobin

A.W. Phillips

Irving Fisher

Paul Samuelson

Codes :

A @
® @
© @
(D) @)

(@ (D
®3)
(1)
(2)

(1)

(0
(2)
3)
(4)
(4)

(d)
(4)
(4)
®3)
®3)
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28. Siredl Jwar M foeiean HendishayA
3fed wata fraer -

(a)
()
(0
(d)

(1)
(2)
®3)
(4)

Ul
TUCRM SN 38 31T
YR Sord 9=

TR Tl 3eX3TaRM
FATRIET A 3Ah T/l

et 11
S fe

T, HiA
PRI HITR

RISEESE GRS

K3 K3
-
.

A4 @
B @
©
D) @

@ (b ©© @

@ @ @

n 6 @

@2 @ ®

n @ O
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29.

30.

31.

The cost assigned to factors of
production that the firm neither

hires nor purchases i1s called :
(A) Social cost

(B) Opportunity cost

(C) Economic cost

(D) Imputed cost

Under Lead Bank Scheme the lead

bank were asked to adopt ..........
(A) Village

(B) Town

(C) District

(D) State

If cov(X, Y) = ox Oy, then ‘7 will be

equal to :
4 1
(B) 0
() -1

(D) oo

29.

30.

31.

AUG - 11215/11

3T SZehieR hiedl SITURT 3791 o499 ohi
S TETE] SENTHE SAAET Hesh WredH
= B 3o faeRagt T udr w{d 3d

(A) IS =94
(B) gt ==
(C) enfds ==

(D) sRYq ==

YUl U Bl

A =g
(B) =
(C) o
(D) T

X cov(X, Y) = o oy 38, W7 =

Hed Ude YA @
A 1
B) 0
C) -1

(D) oo
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32.

33.

Government’s capital expenditure

falls as a result of :
(A) Primary deficit
(B) Fiscal deficit
(C) Budget deficit
(D) Revenue deficit

Devaluation can improve the
balance of payments only when the
sum of elasticity of demand for

imports and elasticity of demand for

32.

33.
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THIET iedal ©=

s HHT Tl

(A) wogfHs @
(B) fodia @

(C) SRR T
(D) #HeYel I

HATHTIAHE SITENATATd A58
YUR TS IMhd el AT HRTui=
amfor frafq Awofieen eefeerd= sis

exports is © | e T
(A) Equal to one (A) TH T
(B) Greater than one (B) TehTd&T SR
(C) Smaller than one (C) e
(D) Zero D) =
34. Classical 1investment theory 34, WWW@WWW
advocates normally all of the
EeiTeTdeh! Ml JEHR hird ATEl ?
following, except :
(A) Perfect competition (A) e e
(B) Absence of externalities (B) ST S
(C) A living wage (C) frafe e
(D) A state of general equilibrium (D) el W;‘ﬁ feerdft
15 [P.T.O.



35.

36.

In case money wage rate does not
grow in proportion to inflation rate,

the long-run Phillips curve will be :
(A) Vertical
(B) Horizontal

(C) Steeper than short-run curve

but not vertical

(D) Flatter than short-run curve

but not vertical

Normal profits are considered

as -

(A) Explicit costs

(B) Implicit costs

(C) Social costs

(D) Private costs

35.
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R Hifgeh dd9 T A=A SO

oo

MG dTed T9e, T STEehelq fhferg
aa; ........................ aﬁa.
INBBISEKE]

(B) farfasraama

(C) 3TeqehTel ashTien 2Afeeh J@ g
fegfastera Taeren

(D) SFeehTeiI TshTel Tfeeh Sefes Wy

ferfasters T

(B) sToge @@=

(C) "It @

(D) @ T
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37.

38.

Which rural sector i1s not included

in ‘Bharat Nirman Yojana’ ?

(A) Irrigation

(B) Water supply

(C) Education

(D) Telephone

Which one of the following

economists stated that the
advancement of international trade
will have adversities to a developing

country ?

(A) Ricardo

(B) Adam Smith
(C) Karl Marx

(D) R. Prebisch

317.

38.
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‘g T 9 e ETelteTieh! Shiv
JEOT Q4 T AT ?

(A) Sdfa=m

(B) it qRerat

(C) forerm

(D) Tt

BITATATHRT  HIOTHT AL ITEAAT

3 a1 STARART  STIRTAA

aeHes foehaeiiel SemAT Wideperdren

3yE AW ?

(A) Rerei

(B) sfew foy

(C) et AT

(D) M. Y

17

[P.T.O.



39.

40.

Upper turning point and lower
turning point are used in the

business cycle model of :
(A) Hicks

(B) Samuelson

(C) Kaldor

(D) Goodwin

For

perfect complementarity

between X and Y :
(A) MRTSyy will be zero

(B) MRTSyxy and MRTSyy both

will be zero
(©) MRTSyy will be constant

(D) MRTSyx will be constant

39.

40.
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T Feeulfelg ST @TeTal daavifag,

AT 3TN RV HURES:  FTaqHHTd

el 3 ?

(A) fed

(B) H=eTEH

(C) =+TeeR

(D) TeaH

& o7 I Hefle IRyel ehemardt :

(A) MRTSyy & 318

(B) MRTSyy 37T MRTSyy I

I AT

(C) MRTSyy TR sm@a

(D) MRTSyy feer ¥R
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41. In simple Keynesian output | 41. ST IRA M= WEal FiaHMG
determination model, to the right of HHACTAT 3SRt ﬁs@}]‘&ﬁ :
equilibrium point we have :

(A) THU AN THU GLASATIET ST
(A) Aggregate demand is more than T
aggregate supply
(B) WeRUI HETU THUT YRS HH!
(B) Aggregate demand is less than
3
aggregate supply
(C) wRUr HToft feer ered
(C) Aggregate demand is constant
(D) Aggregate supply is constant (D) TR A feert srera

42. The slope of price line is given by | 492, feug =y IaE = ATHeS HISTl

the woveeeeeeeeeen, Jal.
(A) Taste and preferences of the ) 3 A o wd
consumer
(B) S8 a&=A fohw
(B) Prices of both the commodities
(C) Price of commodity X alone © T & FH! P
(D) Price of commodity Y alone (D) e I gl fRuq
19 [P.T.O.



43.

44.

45.

Which state has maximum branches
of public sector commercial banks at

present ?

(A) Uttar Pradesh
(B) Maharashtra
(C) Karnataka
(D) Gujarat

Lorenz curve is a graphic method

of studying :

(A) Correlation
(B) Index numbers
(C) Averages

(D) Dispersion

The concept of the ‘reserve army of

labour’ is due to :
(A) Karl Marx
(B) David Ricardo
(C) Adam Smith

(D) J.S. Mill

44.

45.
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RIS IESIRE RIS

(A) STUH
(B) WaRTL

(C) HAfeeh

(D) TS

(D) TIEHII

FTHMUET EAg AT & HHhegdl

(A) w1 A
B) fwe e
(C) 3tem Ty

(D) S.wy. foa

20



AUG - 11215/11

46. A public good is : 46. HeSIeh I&] WS :
(A) A good that the public must pay (A) 73 T SIS ot TR
for EISICIIG]
(B) Non-rival in consumption
(B) YT S1-Ufaeqeicaeha
(C) More costly than a private ©) @i a@m ST e
good
(D) wwRehed ol Sid
(D) Paid for by the government
47. fom smEmmen RTERITER. Sgened
47. Grants from the centre to the states ) - e a )
NEIEL Gﬁ' Stgald Igadl Sildld ol
under the recommendations of
......... ‘j%zé aﬁ
Finance Commission are known as :
(A) A STIRH
(A) Plan grants
(B) forr wereA
(B) Development assistance
ECIBEC L]
(C) Statutory grants ©
(D) Discretionary grants (D) TRl ST
48. Which of the following is truein case | 48- HTIcH® STHATHA FHTAT STadTq
of a positively skewed curve ? greflede! O faem Aqm] e ?
(A) mean has the lowest value (A) HEAE A A ST
(B) mode has the highest value (B) wgerhT™ oI WEwH 3THd
(C) mean has the highest value (C) 7L Hod HE@H 3Td
(D) mode has a value more than (D) FgAhE Hod Heh<dl oAl
median S 3THd
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49.

50.

The general equation of the budget

constraint line 1s :

(A) PxQy + PyQy = M

(C) PxQg + Qx = M

(D) Py + Qg = M

Which of the following transactions

1s a debit in the Current Account ?

(A) The export of merchandise

(B) The export of services

(C) A gift to a foreigner

(D) A gift from a foreigner

49.

50.

AUG - 11215/11

di‘qlcl“lﬂch quqmn JOE TR

TR § A :

(A) PxQy + PyQy = M

(C) PxQg + Qx = M

(D) Py + Qg = M

TTeAeTieh! IVl S8R =Te] ST

o~

SIEEISCICIESIS |

(A) g faid

(B) Heren it

(C) foesht =geiten feciel Somit

(D) fooul =gy feaiedt Somft
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ROUGH WORK
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ROUGH WORK
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